: d 0 GT-TT9-¥92-VS :
: REV DESCRIPTION DWN|CHKR(APVDDATE :
| |
| |
| |
| |
| |
| |
| |
| (17.71) |
| D DI
| |
| |
| 4X 2X |
| AX |
| _—(9 |
| |
| O / / g |
| C ) ) I :
| G |
| . s |
| |
| . . AN S 8 |
| | |
| |
| - |
| |
| | |
| T < |
I —— I
| |
| | | (3.38) |
| |
: z :
| C O Cl
| |
; o [0® @ :
| |
| —> ) |
| |
| |
| 4 I
| / =g |
| o— © |
- o ! -
| 1 NUT, HEX, #4-40 UNC-2B, SST 316 4 |
. — .
| ~—(.6) —= f+——(.7) — 2 NUT, HEX, #8-32 UNC-2B, SST 316 4 |
| 3 NUT, HEX, 2-56 UNC-2B, SST 316 5 |
- (1.6) =
: 4 SCREW, CAP, SCH, HEX, #4-40 UNC-3A 4 :
| X 2.0, SST 316, SILVER PLATED |
: 5 SCREW, CAP, SCH, HEX, #8-32 UNC-3A 2 :
| X 1.0, SST 316, SILVER PLATED |
| |
6 SCREW, CAP, SCH, HEX, #8-32 UNC-3A 2
: B @ @ S )_ X 1.75, SST 316, SILVER PLATED B :
| 7 SCREW, MACH. PHILLIPS PAN HEAD, 5 |
| 2-56 UNC-2A X .50, 316SST, Ag P! |
| |
| (1.69) 8 PF-264-600-28 ROD 1 |
| 3 |
| @ @ 9 PF-264-600-29 CLAMP 1 |
: 10 PF-264-600-30 TUNGSTEN FOIL 1 :
: 11 PF-264-600-32 SHAFT CLAMP 1 :
| 12 PF-264-611-16 FRAME, TARGET HOLDER 1 |
| |
| 13 PF-264-611-17 TARGET CLAMP BLOCK - L 1 |
: 14 PF-264-611-18 CALIBRATION TARGET CLAMP BAR - | 1 :
| |
| CHECK-PRINT 15 PF-264-611-19 CALIBRATION TARGET SUPPORT 1 |
: cookrl 16 PF-264-611-71 CALIBRATION TARGET - CH2 1 :
: 08-28-2014 02:32:50 PM 17 PF-2646-611-70 CALIBRATION TARGET - C 1 :
: ITEM| STOCK OR PART NO TITLE OR DESCRIPTION QTY :
: A — DIMENSIONINAGS/’:‘\AI\I;DYIE';E;'S';CING IS 1AW SCALE: DOZ,EK:DI_T SCALE DRAWING ESTIMATED MASS: 585 Ibm CAD FILE NAME: sa26461115-0.dft A :
| T UNLESS OTHERWISE SPECIFIED h % U.S. DEPARTMENT OF |
| NOTES: UNLESS OTHERWISE SPECIFIED DIMENSIONS AREIN INCHES. D@ t_'! ’%‘-‘ o % EN ERGY HPS |
: 1. CLEAN HANDLING: ASSEMBLE USING CLEAN ROOM METHODS INCLUDING GLOVES AND A CLEAN WORK SPACE TO snes E06es 0.0 o scsenton nsorson_ES SHIFTER VACUUM BOX ASSY — :
| MAINTAIN PART/ASSEMBLY CLEANLINESS. AFTER ASSEMBLY WRAP IN TISSUE AND FOIL; BAG AND LABEL WITH T oo o e prawnes, seeorcanons moerer e rovore s | TARGET CF ASSY ||
: PART NUMBER AND REVISION SHOW'NG - e XX; . PRIOR WRITTEN PERMISSION OF STANFORD UNIVERSITY/SLAC L :
| mo26461100 ->;X><; T ener S. OSIER o AKAP-RBVQIISL’JNNO DRAWING NUMBER REVISION NUMBER A
, FRp— R. COOK 2014-8-26 | ---
: NEXT ASSEMBLIES: ANGLE XXXXt 5° ALL SURF \/ E\QI:R D. ARNETT - SA-264-611-15 O D (% :
| |
| 8 7 6 5 4 3 2 TR |

A HPS SHFTR VAC BX TGT CF ASSY



